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Monday Tuesday Wednesday Thursday 
A crayon company puts 2 
crayons in each box. The 
boxes of crayons are 
arranged 4 across and 3 
deep in a crate. How many 
crayons are in the crate? 
 

 

A party supply store ordered 
paper cups. Each package 
contains 5 stacks of cups, 
and there are 5 cups in 
each stack. How many 
paper cups are there in 3 
packages? 

 
 

How much money does Paula need to buy 6 bottles of 
hand lotion and 6 sewing kits? 

 
 
 
 
 

A university bookstore 
ordered 40 shipments of 
notebooks. There were 900 
notebooks in each shipment. 
How many notebooks did the 
bookstore order in all? 

 
 

Logan bought 40 bags of 
candy. There were 30 pieces 
of candy in each bag. How 
many pieces of candy did 
Logan buy? 
 

 

There are 9 bags of beans. 
Each bag contains 6,000 
beans. How many beans are 
there in all? 
 

 

A hospital ordered 100 boxes 
of cotton swabs. There were 
30 cotton swabs in each 
box. How many cotton 
swabs did the hospital order 
in all? 

 
 

Find the product. 
3 x 4 =  
3 x 5 = 
3 x 6 = 
3 x 7 = 
3 x 8 =  
3 x 9 =  

Find the product. 
4 x 4 =  
4 x 5 = 
4 x 6 = 
4 x 7 =  
4 x 8 =  
4 x 9 = 

Find the product. 
5 x 4 =  
5 x 5 = 
5 x 6 =  
5 x 7 =  
5 x 8 =  
5 x 9 = 

Find the product. 
6 x 4 =  
6 x 5 = 
6 x 6 =  
6 x 7 = 
6 x 8 =  
6 x 9 = 
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Find the product. 
7 x 4 =  
7 x 5 = 
7 x 6 =  
7 x 7 =  
7 x 8 =  
7 x 9 =  

Find the product. 
8 x 4 = 
8 x 5 = 
8 x 6 =  
8 x 7 =  
8 x 8 =  
8 x 9 = 

Find the product. 
9 x 4 = 
9 x 5 = 
9 x 6 =  
9 x 7 =  
9 x 8 =  
9 x 9 = 

Find the product. 
12 x 4 = 
12 x 5 = 
12 x 6 =  
12 x 7 =  
12 x 8 =  
12 x 9 = 

Use a strategy you have 
learned to find the product. 
 
 
 
 

         5, 3 1 9 
      x           2 
          

Solve 247 x 8 using an area 
model. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1,976 

Use a strategy you have 
learned to find the product. 

 

         3, 2 0 8 
      x           4 
       
 
 
 

Use a strategy you have 
learned to find the product. 

 

         3, 4 1 8 
      x           8 
       

Solve 38 x 2 using an area 
model. 
 
 
 
 
 
 
 
 
 
 
 

 

Solve 482 x 5 using an area 
model. 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Use a strategy you have 
learned to find the product.  
 

 

         8, 4 2 9 
      x           7 
       

Use a strategy you have 
learned to find the product. 

 

         7, 3 4 7 
      x           5 
       

	
  
	
  

 200       40           7 
 

8 
 
 

 400            80       2 
 

2 
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Answer Key Homework Week 10 

Monday Tuesday Wednesday Thursday 
A crayon company puts 2 
crayons in each box. The 
boxes of crayons are 
arranged 4 across and 3 
deep in a crate. How many 
crayons are in the crate? 
 

2 x 4 x 3 = 24 

A party supply store ordered 
paper cups. Each package 
contains 5 stacks of cups, 
and there are 5 cups in 
each stack. How many 
paper cups are there in 3 
packages? 

 
5 x 5 x 3 = 75 

How much money does Paula need to buy 6 bottles of 
hand lotion and 6 sewing kits? 

 
 
 
 
$11.52 

A university bookstore 
ordered 40 shipments of 
notebooks. There were 900 
notebooks in each shipment. 
How many notebooks did the 
bookstore order in all? 
 

36,000 

Logan bought 40 bags of 
candy. There were 30 pieces 
of candy in each bag. How 
many pieces of candy did 
Logan buy? 

 
1,200 

There are 9 bags of beans. 
Each bag contains 6,000 
beans. How many beans are 
there in all? 
 

54,000 

A hospital ordered 100 boxes 
of cotton swabs. There were 
30 cotton swabs in each 
box. How many cotton 
swabs did the hospital order 
in all? 
 

3,000 

3 x 4 = 12 
3 x 5 =15 
3 x 6 = 18 
3 x 7 = 21 
3 x 8 = 24 
3 x 9 = 27 

4 x 4 = 16 
4 x 5 =20 
4 x 6 = 24 
4 x 7 = 28 
4 x 8 = 32 
4 x 9 =36 

5 x 4 = 20 
5 x 5 =25 
5 x 6 = 30 
5 x 7 = 35 
5 x 8 = 40 
5 x 9 =45 

6 x 4 = 24 
6 x 5 =30 
6 x 6 = 36 
6 x 7 = 42 
6 x 8 = 48 
6 x 9 =54 
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7 x 4 = 28 
7 x 5 =35 
7 x 6 = 42 
7 x 7 = 49 
7 x 8 = 56 
7 x 9 = 63 

8 x 4 =32 
8 x 5 =40 
8 x 6 = 48 
8 x 7 = 56 
8 x 8 = 64 
8 x 9 =72 

9 x 4 =36 
9 x 5 =45 
9 x 6 = 54 
9 x 7 = 63 
9 x 8 = 72 
9 x 9 =81 

12 x 4 =48 
12 x 5 =60 
12 x 6 = 72 
12 x 7 = 84 
12 x 8 = 96 
12 x 9 =108 

 
 
 
 

         5, 3 1 9 
      x           2 
         1 0,6 3 8 

Solve 247 x 8 using an area model. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1,976 

Use a strategy you have learned to find the 
product. 

 

         3, 2 0 8 
      x           4 
      1 2, 8 3 2 
 
 
 

Use a strategy you have learned to find the 
product. 

 

         3, 4 1 8 
      x           8 
      2 7, 3 4 4 

Solve 38 x 2 using an area model. 
 
 
 
 
 
 
 
 
 
 
 
 

72 

Solve 482 x 5 using an area model. 
 
 
 
 
 
 
 
 
 
 
 
 
 

964 

Use a strategy you have learned to find the 
product.  
 

 

         8, 4 2 9 
      x           7 
      5 9, 0 0 3 

Use a strategy you have learned to find the 
product. 

 

         7, 3 4 7 
      x           5 
      3 6, 7 3 5 

 

 200       40           7 
 

8 
 
 1600        320        56 

 30            8 
 

2 
 

60               16 
 400            80       2 

 
2 
 

800             160     4 


